We +take o naive Gwmmch focards set theory, and  on urpose. leave
some terms  undefined .
et is o st 7L A seb 5 a coellclePined collection of obiects,
o box conJrafning certain cbjects.
Let’s start with special sebs:
The set of in-haﬁers: Z. ( Zahlen)
The set of rotional numbers: @

The set of real numbers: R

The set of com?lex numbers: €
Objects in aset are colled its elements  or members ; e
corite. aeA o .Swé a is inA or o is an element of A .

Bx. 1,e@ ; 414,¢zZ; 1eC ; R
We need mare cxo\m?\es in oder to understand sets bedber.

A set con be c&f\ren M Varions coo%s.

List the elements .

1le®d, 2¢B
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Ex. C= (The e . The e set-
2,% "\T\e set corH\ noelemevﬂ:s)H__ :\T?em)&cj

is also

La & .

13¢C
Ex. Con You tell me o 86\7 that conbains i?.

o How aboit a2 How abot §% 2
e R L R S AT

Ex. Hoo many eloments does 3% have 2
How abod 3% 9
Too sebts ore e_c\vm\ N2 -Hma have. Collechin o% members .
(Repeatiing an elonent does NOT change the seb)
Ex. How many elements do the ‘Pa[locoin% sels have ?

34,2,2,3% 3 its elemens are 1, 2,3
334,253 1 i has only ome element §1,23
$1,2,%4,2%¢ S it has three elements 1, 2, 91,98
$2,133 L Nobee thef g=9%

19, 1833 2 ithis fwo clmerts of, §

kS



e
has no hos 1
elemedt element -

Andther gy to consbruct o set is by giving “the condibions
of  membership.
Ex.{neZ| n s oy (he st of odd namben)
. %neZ\ N3 , nisody
3 Ze([:\ m(Z) yo0 § Cuﬂaer-—haHl plane’)
Consbrucking the. clenents of. the ek
Ex. . The s¢b of even rumbers = § 2k | ke ZE -
- The seb of odd numbers =32kt | keZl.
Recall . Tawo sefs are equal iP they are collections of Bre same objecks)
So the second cloim is equivalent to
m ks odd <= m=2k+| For some frvlreﬁef .
c IxeR| xHi=0} = &
. $xeR| im0l =9-4,1%.

Det.  We soy A is a subset of B
ony elemernt o A s an elemest of R.

A B



Ex.. 343 < 34, 2%
334 £ 34,28
To show A;éfB, it isenmgh'bo‘lzincl x St.
xeN AN XE€B.
— (xeA=r XeB) = XA A X¢B -
245 ¢ TUA3Y , but TFILIY.
(coe have seen thed elements oaq %.‘L,Z% are 1 and 27
md 4 is NOT the some as %_‘Lg)
- 13< 14,23
P not, then ce should be able o Pind
(Xeig A ‘X¢§i;2?>)
LW‘: ‘H\e_ e»v‘:{;a scl‘ %g 1%\5 no ele,meers.

. Tor any sab A ) o A and ACA.




